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1. iR EME LT

1) fHRfEREPEESE T (AL, A2, P1)

N=
L=

1. 2L

Al

P1

A2

4. 300 +  4.300 +  4.300
( CR + SS400 + SD345+fM: — /L )

a7 aA 2 MO —80 (FEFHLA)
T 7Y aA L DX —60 (FEEHA)

T 7Y a4 MO —80/ (FEZEHLA)

2. =k (k)

Al

A2

137 mm X 30 mm L = 1726 mm

V =0.137 X 0.030 X 1.726 X 1000

127 mm X 30 mm L = 1726 mm

V =10.127 X 0.030 X 1.726 X 1000

137 mm X 30 mm L = 1726 mm

—
1l

—
Il

7.090

6. 580

V =0.137 X 0.030 X 1.726 X 1000 = 7.090

.#ITa 7Y — |

Al

P1

A2

V =4.300 X 0.400 X ( 0.160 + 0.
+ 4,300 X 0.400 X ( 0.160 + 0.
= 0.550 m 3

V =4.300 X 0.350 X ( 0.110 + 0.
+ 4,300 X 0.350 X ( 0.110 + 0.
=0.331 m 3

V =4.300 X 0.400 X ( 0.160 + 0.
+ 4,300 X 0.400 X ( 0.160 + 0.

= 0.550 m 3

4, a2 U—r7rH—  (SS400 FHYS 4L )

Al

P1

A2

DI6H X 64 A

DI6H X 64 A

DI6FH X 64 K

160 ) / 2

160 ) / 2

110 ) / 2

110 ) / 2

160 ) / 2

160 ) / 2

4.300 m

4.300 m

4.300 m

O =

5 2




5. w LA ( SD345 )

Al

P1

A2

D16 X 4300 mm X 10 A&
W = 1.560 kg/m X 4.300 m X 10 &K =
D16 X 4300 mm X 4 A&
W = 1.560 kg/m X 4.300 m X 4 K =
D16 X 4300 mm X 10 A

W = 1.560 kg/m X 4.300 m X 10 K =

6. B IREE s Al

Al

P1

A2

CDx”! —80 1 =X
CDxH! — 60 H 1 =X
CDxH! —80 1 =

7. WA= (SS400 + PHEPES—L )

Al

P1

2) ik T

by
'S

V=
+

2 f&E T

BRI R B B L T TRt |
0. 307 X 4.000 X 0.160
0. 256 X 4.000 X 0.110

67.1 kg

26.8 kg

67.1 kg

DN >

1.0 m3




2. FEEMmEL

1) SERRGIK T(7 27 7L k. t=50mm)
L= 5.2 + 4.3

2) HREERAERET. (7 2 7 7 v hEE%E, t=50mm)
A= 28.433 X 4
+ 2.000 X 5 + 2,000 X

3) FEIR L (7 A BRHER)

A= 28.433 X 4.000 X 2
4) FEmPGAK T (BIER, /ilE)
A= 28.433 X 4.000 X 2
5) &L KA B
N:
a) HEAHEKE BHAIEE ¢ 20 (7 A =R5%BE) )
L= 2.7 X 8 +  23.2 X
+ 4.1 X 4
nARERE L'=  130.8 X 1.05
b) U B HALER (1 A SRE5% 3 E)
= 29. 4 X 4 + 4.1 X
0 ALREE '=  134.0 X 1.05
c) B H iR (7 A Z5%5 5E)
L= 29. 4 X 4 + 4.1 X
o0 ARER = 134.0 X 1.05
6) HEAMHHEIFL (¢ 25)
N= 8 X 2

) T AT 7))L ML (t=50mm, 5K EEAs13F (SUE 11HY))
A= 28.433 X 4.000 X 2

8) NREIFEIE « 7 A7 7 /b % (1=50mm, FFAEERLE As20F)
A= 2.000 X 5.021 + 2.000 X

9) XE#R T (HE, FHW=15cm)
LR L= 63.8
3. WBREL

1) Flalz L (7 A BER)
A=(C  0.600 + 0.300 ) X 29.200 X

9.5

245. 8

227.5

227.5

130.8
137

134.0
141

134.0

141

16

227.5

18.3

63. 8

105. 1

m2

m2

m2

5 B

5 B

fL

m2

m2

m2




4. FEIEMERAN T
1) iRt T

A= 0.330 X 0.900 X 4
2) SH LRI T ffir L Eite)
A= 0.330 X 0.900 X 4
3) HIRESA BT T (HTBE A4, G=20kg)
N:
LIS (L-130 X 130X 12, HAE & 23. 4kg/m)
N= 2 X 2
(IEFA 24 0) W= 0.800 X 23. 4
4) SWMTFLEA L
N= 8 X 2
5) &R N ARKET
N:
6) v — At FIF T
N:
7) BGEEET Re-TBIER, ETH~ESRD)
(BERZHERFT) A= 0.330 X 0.900 X 4
(LIESH)  + 18.7 X 0.0217 X 4
(R b)) + 5.06 / 1000 X 16
8) &ilks
LIESH (L-130 X 130X 12, HALE & 23. 4kg/m)
N= 2 X 2
W= 0.800 X 23. 4 X 4
KL 7 HIE J3R L R (TCB M22 X 75)
N= 8 X 2
W= 16 X 0.538 = 8.6 kg
5. XAMEL
1) 8k L CJERETRERF; SD345, D16)
L=  0.650 X 8 + 0.450 X
W= 8.8 X 1.56 / 1000
2) WrimfEE T.(2 X > N RMEIUHER . 1875kg/m3, = A0, 18)
V= 0.750 X 0.930 X 0.100 X
+ 0.750 X 0.550 X 0.030 X
+ 0.750 X 0.550 X 0.030 X
V= 0.239 X 1.18
(B%E) = 0.282 X 1875

\)

1.2

1.2

16

16

16

2.9

0. 239
0. 282
528.8

m2

m2

itz
iz

fL

m2

-+




6.

VY vXT v IREREL

1) 27 J—KEoD

V= 0.094 X 1.000 = 0.09 m3
2) 227 U— |k 1.(24-8-25H)
V= 0.300 X 0.500 X 1.000 = 0.2 m3
3) AT
= 0.300 X 1.000 + 0.500 X 1. 000
+ 0.300 X 0.500 = 1.0 m2
4) SrEERAG T
N= = 2
5) EkERE T
A= 0.600 X 1.000 X 2 = 1.2 m2
6) =227 U— MHIFL (¢ 46 X550, ¢ 46X850)
N= 8 X 2 = 16 FL
7 Trh—T.(M36, fifx) « 7o h—WET
N= 8 X 2 = 16 &K
HEAR W=(  0.046 29— 0.036 2)X gw/4 X 0. 550
X 1200 X 1.2 = 0.51 kg/A
8) Fyvr LT
A= 0.600 X 1.000 X 2 = 1.2 m2
9) MAL(ZTZ /7 v b M. HEAM : =K% 5 (1200kg/m3) )
A= 0.600 X 1.000 X 2 = 1.2 m2
(6m234 v £}
HEAM W= 6.000 X 0.005 X 1200 = 36.0 kg
10) $H%L~7Z 2w NEUS « E
N= 2 = &0
11) $ARL=7Z 47~ s ($EH
W= = 1039 kg = 1.04 t
R4t 3h | S % ER#4 <1 3% Net HiufmEE =1
2 - [BasePL 556 X 38 x 800 100 133 kg 266 kg
2 - |U FlgPL 500 X 22 x 800 100 69 kg 138 kg
2 - |L FlgPL 500 X 22  x 800 100 69 kg 138 kg
8 - |RibPL 452 X 25 x 556 100 49 kg 392 kg
12 - [AncB M36 x 650 - 52 kg 62 kg
4 - |AncB M36 x 950 - 7.6 kg 30 kg
16 - [Nut M36, 17& - 0.397 kg 6 kg
16 - [Nut M36, 33 - 0.287 kg 5 kg
16 - |Washer M36 - 0.104 kg 2 kg
&% 1039 kg
12) WraEE T(RY) ~—% XA hELZ)L, 1 ZA2K0. 18)
V= 0.100 X 0.900 X 0.350
+ 0.137 X 1.000 = 0.169 m3
(%) V= 0.169 X 1.18 = 0.199 m3




7. ODObh@EL
D) R FTEHOWOEAL (IPHLERZELLE)

[N TS EAM T — B EAZRH
0.2 mm 35.2 m 2.25 kg 4.91 kg 141
o AT 35.2 m 2.25 kg 4.91 kg 141 & |
1) OO AUIEW=0. 2mm
L= 0.9 - 0.6 + 0.8 - 0.6 - 0.6
+ 0.7 + 1.1 + 0.6 - 0.6 - 0.2
- 0.1 - 0.9 + 0.6 - 0.9 - 0.5
+ 0.4 + 0.6 + 0.4 - 0.6 - 0.3
- 1.5 - 0.6 + 0.2 - 2.0 - 0.5
+ 0.6 + 0.4 + 0.9 - 0.8 - 0.2
+ 0.4 + 1.4 + 1.0 - 0.6 - 0.6
+ 0.7 + 0.2 + 1.9 - 2.5 - 0.4
+ 1.0 + 0.7 + 2.0
+ 0.6 + 0.6 + 0.9
= 35.2 m
(%)« EAM W=0. 2mm, = ZAZK=0.4, 1140kg/m3 & {KiE)
V=" 0.0002 X 0. 20 X 35.2 = 0.00141 m3
W= 0.00141 X 1140.00 X 1.40 = 2.25 kg
(%)« = L8 (t=2mm, W=30mm (7 A ZRK=0. 37) ., 1700kg/m3 & {5 /&)
V= 0.002 X 0.03 X  35.2 = 0.00211 m3
W= 0.00211 X 1700.00 X  1.37 = 4.91 kg
1) OO IEAT. (IPHLERS%LL )
O DAL T EAM T — EAZH
0.2 mm 5.9 m 0.38 kg 0.82 kg 24 fH |
0.3 mm 1.3 m 0.13 kg 0.19 kg 6 il
0.5 mm 2.7 m 0.43 kg 0.37 kg 11 &
B i 9.9 m 0.94 kg 1.38 kg NIRE
i) OO AUEW=0. 2mm
L= 0.2 - 0.6 — 0.4 - 0.5 - 0.7
+ 0.9 - 0.6 + 2.0 = 5.9 m
(%)« EAM (W=0. 2mm, = ZAZK=0. 4, 1140kg/m3 & {KiE)
V=" 0.0002 X 0. 20 X 5.9 = 0.00024 m3
W= 0.00024 X 1140.00 X 1.40 = 0.38 kg
(%) « >— L8 (t=2mm, W=30mm (= R ZK=0. 37) . 1700kg/m3 & {; 7E)
V=" 0.002 X 0.03 X 5.9 = 0.00035 m3
W= 0.00035 X 1700.00 X  1.37 = 0.82 kg
i ) O FUEW=0. 3mm
L= 0.3 - 0.2 + 0.2 - 0.6 = .3 m
(%)« EAM (W=0. 3mm, = ZAZK=0.4, 1140kg/m3 & {KiE)
V= 0.0003 X 0. 20 X 1.3 = 0.00008 m3
W= 0.00008 X 1140.00 X 1.40 = 0.13 kg
(%)« — L (t=2mm, W=30mm (2 & ZK=0. 37) . 1700kg/m3 & (X E)
V= 0.002 X 0.03 X 1.3 = 0.00008 m3
W= 0.00008 X 1700.00 X  1.37 = 0.19 kg
i) O\ 2UIEW=0. 5mm
L= 2.7 = 2.7 m
(%)« EAM (W=0. 5mm, = ZAZK=0.4, 1140kg/m3 & {KiE)
V= 0.0005 X 0. 20 X 2.7 = 0.00027 m3
W= 0.00027 X 1140.00 X 1.40 = 0.43 kg
(%)« — L (t=2mm, W=30mm (2 & ZK=0. 37) . 1700kg/m3 & (X E)
V= 0.002 X 0.03 X 2.7 = 0.00016 m3
W= 0.00016 X 1700.00 X  1.37 = 0.37 kg

i L= 5.90 + 1.30 + 2.7 = 9.9 m




8. BEm ALER L

1) 7 A7 7V bkiE
V= 245.8 X 0.050

2) 7 AT 7 )V MNiLgy
W= 12.3 X 2. 35

3) =z U — ik
V= 1.0 + 0.09

4) a7 ) — RNy
W= 1.1 X 2.50

9. RERT

D s (H=1.6m, ik - > — HRP#)
A= 27.515 X 5,200 + 27.463 X  5.200

2) fah - fEMEl v Y (o - > — R aRBGE)
A= 2.000 X 5.200

12. 3

28.9

1.1

2.8

285.9

10. 4

m3

m3

m2

m2




